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 الحس العددي :   

 أوجد ناتج كل مما يلي :  (1
 

 ( =   2- + )  7 – (أ

 

 ( =   1+ ) +    4 –ب(            

 

 ( =   3 -)  – 8 -ج(             

 

   =  3+    7 – ي (             

 

 =   6÷   36 –د(               

 

 ( =   3-× )   5هـ (             

 

 ( =   2-( × )  6-)ل(              

 

 =   100×  7.215ن(                

 

 =   0.1×  4.78ط(                

 

 =   100÷  1453ك(             
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 ( أوجد ناتج ما يلي بأبسط صورة :  2    

      أ(                    

 

 

 

 

 

 

 ب(                     

 

    

 

 

 

 أوجد قيمة س فيما يلي :    ( 3    
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